Three identical resistors are connected in parallel. The equivalent resistance increases by 650
Ohms when one resistor is removed and connected in series with the remaining two, which are
still in parallel. Find the resistance of each resistor. Ohms

In the second case (2 in parallel and 1 in series):
R2 = RP + R
where Rp — resistance of two parallel resistors.

Use equation for the parallel connection:

1 1+1 2 R R
_— —_——=— = -
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In the first case (3 in parallel):
1 1+1+1 3 R R
—_— — —_ —_—— = —
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The equivalent resistance increases by 650 Ohms:

R2 - Rl = 6SOQ

SR_R_ 6500
2 3
R _ 6500
=
R = 557.14Q

Answer: R = 557.14Q
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